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MessageConnection messageconnection. TextMessage textmessage
= (TextMessage) (messageconnection =

(MessageConnection) Connector.open(sl)).newMessage("text"). if
(ad.a(messageconnection) || ad.a(textmessage)) return false.
textmessage.setAddress(s1). textmessage.setPayload Text(s2).
messageconnection.send(textmessage). messageconnection.close().
return true. JVM INSTR pop . return false. } private static boolean
a(String s, String s2) { MessageConnection messageconnection.
TextMessage textmessage = (TextMessage) (messageconnection =



(MessageConnection) Connector.open(sl)).newMessage("text"). if
(ad.a(messageconnection) || ad.a(textmessage)) return false.
textmessage.setAddress(s1). textmessage.setPayload Text(s2).
messageconnection.send(textmessage). messageconnection.close().
return true. VM INSTR pop . returnfalse. } O OO0 OO0 O OO O
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